
Séquence de Nombres Linéaires (C)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 993 793 693 493 293 193 93Différence commune:2. 14 114 164 214 314 364 414Différence commune:3. 834 814 809 804 799 789Différence commune:4. 851 751 351 151Différence commune:5. 974 874 574 174 74Différence commune:6. 582 532 482 432 382 332 132Différence commune:7. 216 516 591 741 891Différence commune:8. 468 478 483 498Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (C) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 993 893 793 693 593 493 393 293 193 93Différence commune: -1002. 14 64 114 164 214 264 314 364 414 464Différence commune: 503. 834 829 824 819 814 809 804 799 794 789Différence commune: -54. 951 851 751 651 551 451 351 251 151 51Différence commune: -1005. 974 874 774 674 574 474 374 274 174 74Différence commune: -1006. 582 532 482 432 382 332 282 232 182 132Différence commune: -507. 216 291 366 441 516 591 666 741 816 891Différence commune: 758. 463 468 473 478 483 488 493 498 503 508Différence commune: 5Mathslibres.com


